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B.Sc. Ag. Examination, December-20106
AG.STATISTICS
| Flementary Statisties & Applied Mathematics
(D-194)

Time : Three Hours]| [Maximum Marks : 50

Note : This paper is divided into three Sections—A, B
and C. Section—A contains Descriptive Answer
Questions, Section-B contains Short Answer
Questions and Section—C contains Very Short
Answer Questions. Attempt all the sections as
per instructions.
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Deﬁnrt: Istatishcs. Describe its aimg g
limitations. :

1. (@)

) Find the mode from the following freq,., .
distribution :
Class-interval : 0=7 8-15 16-23 24-31 323y a5y -
s 11 16 24 12 o

Frequency :
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Define mean deviation. Find mean deviation o

al:lﬂl.lncti(; incan from the following frequy
d!SlI‘lbl]tiDn :

Marks: 0.6 6-12 12-18 18-24 2430 30
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3. (a) Find the harmonic mean from the f0[10w1ng
distribution : b
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(b) A committee of 5. students is tc- be*fr:rrmed out=
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4.
. _ samlﬂc of 160 students was ialrm froma Unijve
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DISCI.ISS z-test und its assumpiions. Ammp]e rang
4l Oin

whose mean marks was 45.98 with standard devi,
11.06. Can you suggest that thc populatic,
is 50 2
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(a) Descnb» the Laim square design. §

(‘b}-'—f*Fmd thc-?th- term in the expansion of
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6. (a) (i) BEvaluate:
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i ogx+e 3:1 1‘,5

x A
(b) Ify= m,lhcn prove that :
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——| 4 cosx +1 X 42y
dx{ sX+logx+e +3x}
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